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Thanjavir Oistrict 27.01.2020  rage. =
" GOMMON SECOND REVISION TEST - 2020 LS

| STANDARD - X a: 100

Time : 3.00hrs Mat;g: ?:]85 na: 1= 14

Choose the correct answer:

1

2.

10.

IfA=(a.b.p}. B={2 3),C={p.q.rs}thenn I(EUB) X B|is 516

a) 20 b) 8 c) _

T)he relation R - A =B by R ={(3.7). (4,9). (5. 11), (3, 15)} where A= (3, 4, 5, 6}, B={(7.9
11,13, 15} is ‘ |

a) one-one function  b) onlo function .c) bijectivefunction d) not a function
3 15.27.39. 171.Inthe AP. what s the gth term from the last term?

a) 99 b) 11 c) 100 d) cannot find
The solution of the equation (2x - 1)? =9 is/are ... ..
a)-1.2 b) -1 c) 3.1 . d)2,3
1 3} (57 ) .
2X + [5 ?]z 9 5]. In the matrix equation, the matrix X is |
-2 -2 2 2 {1 2' d[z ’l)-
a’(.z -1] M2 -1 |2 2 M2 2,
In \MABC BC||DE.AB=36cm. AC=2.4cm,AD =2.1 cmthen what is AE?
a) 1.4cm b) 1.8cm c) 1.2t:mpI d) 1.05cm
' R

PR is a tangent-Then ~POQ s
a) 120° . . b) 100°
c) 110° - d) g0°

s 0 = ) Q

. Inrectangle ABCD, the side BC is parallel to x-axis. Then the slope of the side AB is

ajo b) 1 _ c) J3 d) not defined

R §

5 L
If 5x = secq: > =1and, then value of x2 - F is

a)25 b) 5 a1

- 9% |
The ratio of the height of a tree and its length of its shadow is /3 *1. Then the angle of
elevation of the suniis

. @)45° . b) 30° ©)90° d) 60°
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N- MAT
11 The ratio of volumes of a cylinder a cone and a sphere having same diameter and haightis
aj123 bhH212 c)132 312
12 The range of the first 10 pnime numbers 15
a) 20 b) 27 c)21 d) 2%
13 Acard s drawn random from a pack of 52 cards ‘What 1s the probability of getung a face card
or a spade card? a) 15/52 b) 25/52 c) 22/52 d) 30/52
14 The pont of intersection aof the lines 3x - y=4dandx+y=8is
a)(s 3) b) (2. 4) c)(3 5) d)(4.4)
Part -l
Il. Answerany 10 question. Qn.No. 28 Is compulsory: Y 10x2=20

15 Check whether the given represenls a function
Justify your answer

X! 0 X
16 f(x) = 3x -2, g(x) =2x + k and fog = gofl
Then find the valde of k
17 Sove 10* = x (mod 19) _ Y
4ax =X -1
18. Simphfy x2-1 x=1

a
19 fu and f are the roots of 3x2 + 7x -2 = 0, find the value of E ‘aﬂ_

20. Construct a 3 x 3 matrix such that aijj = [i-2j|

_ 21 Prove that secht - cosh = tand.sind

22 |Ifthe lines 12y = - (p+3) x +12 and 12x - 7y = 16 are perpendicular, find the value of p.

23 The standard deviation and the mean of a dala are 6.5 and 12.5. Find its coefficient of
variation \ | . _

24 Two tangents are drawn from a point P to a circle of radius J3 - The angle between the

langents is 60°. Find the lengths of a 2 tangents.

.25. A garden s levelled by Qcylinder of length 3m and diameter 2.8 m Find the area of the ground
for 8 revolutions. '

26. Three coins are tossed simultaneously. Find the praobability of getting (i) almost one head
i) three tails.

27. Show that the points (7, 10), (-2. 5) and (3, 4) form a right triangle by using slope.
28. How many terms should be added in the series 1+5+9+13+_ to get 190)
Part - lll
lll. Answer any 10 questions. Qn.No.42 is compulsory: ' 10x5=50
29. A=(xeN/M<x<4), B = {xe WI0 < x<2) C = (x = N/x<3} Verify the following
i) AX (BUC) = (AxB) U(AxC) ii)Ax (BNC) = (A%B) N(AXC)
30. Afunction 't is defined in temperature from Celsius (C) to Fahrenheit fl':) such thatt(C) = F where

‘ 9 .
F= 3 C + 32 Finid the following (i) t (0°) i) t (28°) iii) t (-10%) iv) the value of C such that

I(C) = 212° (v) the temperature at which C and F are equal.
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WSN(x*y)l ¢ (¢ «xysyd)s (x) ¢ Cyexy?¢yl)e  nlermsihen prove

N LA A A
(x*y) 5, = ol . y |

ch area can be
Rekha has squate colour papers of sides 10cm Ylem 12cm 24 cm How mu

decorated by using these papers?

M 20% g 30y 95’_'

Find the square ool of oy X -
| 2 =1

1 4} prove thal (AB)' = BTAT

0 2 .

Atrain covers a distance of 360 km at a uniform speed Had Ils speed increased by Skrmyhr the

time taken would have been decreased by 48min Find the umform speed of tne van

In a ngnt \ABC. _ C =90° and P and Q are the mid points of the sides CA and C2. Than prove

that 4(AQ° - BPY) = 5AB?

If the points A (-3. 9), B (3. b) and C (4, -5) are collinear and a + b = 1, find tne valuss cfaandb
From the top of a tree of height 13m. the angles of elevation and depressicn 2F 10z 1o 2nc
battomn of another tree are 45° and 30° resepclively Find the neight of the seCaors Ues
\Water 1s flowing through a pipe of diameter 14cm, at a rate of 1 Skm/hrinta a tank ¢! 2imensons
50cm by 44cm Calculate the ime to nse the water level in the tank by 21cm :

a) Calculate the range and coefficinet of range 63, 89, 98, 125,79, 108 117, €8

b) Calculale the standard deviation of the first 21 natural numbers

Two dice are rolled together. Find the probability of getting an even number on the firstdie or a

-
-

sum B '
A frustum shaped outer portion of a table lamp has te be painted including the top porticn Find

the cost of painting the lamp at the rate of Rs. 2 per cm? ;
L
;F___‘_—\
/ I
/T \
1
. f—tte =]
Part - IV }RL
Answer bolh the questions: s 2x8=16

a) Construct a tnangle PQR in which PQ = 6 Bcm, the vertical angle 1s 50° and the bisector of
the vertical angle inlerseccts the base at D such that PD = § 2em (OR)

b) Construct two tangenls from a point P al a distance of 8 cm from a circle of diameter Sem
Measure the lengths of tangents and venfy by calculation

a) Solve the quadratic equation x? - 5x - 14 = 0 by drawing the graphy =x?-5x-6 (OR)

T 1 1 1 1 1.1 1 4 _2

b)SDEVE -2-;1.@_3_2'::; ';—3—}". ;—E;-r;= E
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